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QUESTION 1

A batch job runs daily in the QBATCH subsystem with a run priority of 50. The job normally takes an hour to complete
and no other batch jobs run during this time. 

The administrator needs to reduce the run time and requests the run priority be lowered to 40. However1 after the
change, run time does not decrease. 

What is the likely reason that the run time did not decrease? 

A. The run priority applies to only interactive jobs. 

B. D82 Symmetric Multiprocessing has not been installed. 

C. The run priority represents only the relative importance of the job. 

D. The system value QPFRADJ (Performance Adjustment) is set to "No adjustment." 

Correct Answer: C 

 

QUESTION 2

Programmers working on a software development project frequently need to save their development library (LIBX) at the
prior release level of the operating system. 

The administrator needs to change the default value of the SAVLIB command parameter to accommodate the
programmers" prior release save requirement. 

The default value before the change was: SAVLIB LIB(LIBX) TGTRLS(*CURRENT) The default value after the change
will be: SAVLIB LIB(LIBX) TGTRLS(*PRV) 

What should the administrator do to facilitate the change? 

A. Adjust the system value QFRCCVNRST (Force conversion on restore) to *PRV. 

B. Use the Change Command Default (CHGCMDDFT) command to change the TGTRLS parameter value to *PRV. 

C. Use the Save Restore Configuration (SAVRSTCFG) command to change the TGTRLS parameter value to *PRV. 

D. Use the command WRKREGINF to modify the exit point program QIBM_SAV_SECURITY and change the TGTRLS
parameter value to *PRV. 

Correct Answer: B 

 

QUESTION 3

Which command will help an administrator to find the IBM i Navigator jobs? 

A. WRKJOB TYPE(*PJ) 

B. WRKJOB JOB(QZRCSRVS) 
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C. WPKACTJOB JOB(*REMOTE) 

D. WRKUSRJOB USER(*CENTRAL) 

Correct Answer: B 

 

QUESTION 4

When installing the Group HIPER PTE5 (SE99709 for IBM i 7.1), the administrator discovered that only the first PTE on
the DVD was installed. What is the most likely reason this occurred? 

A. The incorrect option on the PTE menu was used to install the PTFs. 

B. The platform was IPLed from the "P" side1 instead of from the "T" side. 

C. A firmware upgrade was not performed prior to installing the Group HIPER. 

D. The system was IPLed from the "A" side, and needed to be IPLed from the "B" side. 

Correct Answer: A 

 

QUESTION 5

An administrator would like to order the latest cumulative1 DB2 for IBM i, and HIPER PTF groups for a system. After
signing on to Fix Central and selecting the appropriate OS release, what must be selected from the list of group fixes to
acquire all these PTEs with the fastest download time? 

A. Order the cumulative PTF, which automatically includes DB2 and HIPER groups. 

B. Order the cumulative, DB2 for IBM i, and HIPER groups in three separate orders. 

C. Customize the order and order just the cumulative PTF to remove requisites and reduce transfer size. 

D. Order the cumulative in one order, then order the DB2 for IBM i and HIPER groups in a separate order. 

Correct Answer: A 
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